
H
in

ge
s

290 Download                        @ www.spep.com

Die Cast Zinc Butt Hinge
Part 

Number
Material Finish

H2082 die cast zinc
black powder 

coated

	� stainless steel passivated M8 studs
	� stainless steel, passivated pin

Die Cast Zinc  Butt Hinges
Part 

Number
Mounting

H2072 M8 threaded studs

H2072-01
Ø8.40mm hole with

Ø16.50mm x 90° c’sink

	�material: die cast zinc
	� finish: black powder coated
	� steel, nickel plated pin & threaded studs
	�mounting screw size M8 or 5/16" F.H.S.

Cast Butt Hinges
Part Number Mounting Finish

H2073 M6 threaded studs black 
powder 
coatedH2073-03

Ø6.30mm hole with
Ø12.50mm x 90° c’sink

H2073SS-03*
Ø6.30mm hole with

Ø12.50mm x 90° c’sink
brushed

	�material: die cast zinc
	� steel, nickel plated pin & threaded studs
	� * H2073SS-03 304SS leaves & pin with brushed 
finish
	�mounting screw size M8 F.H.S.

Cast Butt Hinges
Part Number Mounting Finish

H2073-01 M8 threaded studs black 
powder 
coatedH2073-04

Ø8.40mm hole with
Ø16.50mm x 90° c’sink

H2073SS-04*
Ø8.40mm hole with

Ø16.50mm x 90° c’sink
brushed

	�material: die cast zinc
	� steel, nickel plated pin & threaded studs
	� * H2073SS-04 304SS leaves & pin with brushed 
finish
	�mounting screw size M8 or 5/16" F.H.S.

2.36 60.0

4.72 120.0

FRONT VIEW

.55 14.0

1.77 45.0

1.77 45.0

.31 8.0

.59 15.0

.295 7.50  PIN

RIGHT SIDE VIEW

M8 THREAD
(4) STUDS

1.42 36.0
CENT.

REAR VIEW

part no. H2072

part no. H2072-01

FRONT VIEW

3.54 90.0

2.36 60.0

RIGHT SIDE VIEW

44.01.73

.71 [18.0]

8.0.31

15.3.60

.50 [12.7] MIN.

.315 PIN8.00

REAR VIEW

CENT.
1.42 [36.1]

MOUNTING
(4) PLACES

part no. H2073SS-03

part no. H2073

REAR VIEW

CENT.
1.18 30.0

(4) PLACES
MOUNTING

RIGH SIDE VIEW

.59 15.0

.50 [12.7] MIN.

15.0

.45 11.5

.24 6.0

.59
.236 PIN6.00

FRONT VIEW

1.97 50.0

1.97 50.0

FRONT VIEW

2.36 60.0

2.36 60.0

8.0.31

18.0.71

15.0.59

18.0.71

.57 14.5

.31 8.0

RIGHT SIDE VIEW

CENT.
1.42 36.0

MOUNTING 
(4) PLACES

REAR VIEW

STUD MOUNTING


